O Ct2 0|07

Ho
rx
=2

(M) (3Capo) G Am D7 G G Am D7 G D7

G Am
OfSLC}2 O|O0F7| St
G Am

Mdol Edn g3t

ot
iia
mjo
-
Ot
rir
°
=2
=

m

m E7
ALEHof| Al

|
i
o

G Am
OfELC}2 O|0f7| 5Lt
G G7

C
Mdol Edn g3t

[

(ZtF) G Am

AE AT O|OF7| SfLt
Mdoll gEn cpget
dat= 5tk oloA
22 AHEA FH

ArF AT O|OF7| SfLt

o
Mldel EEa crgst

Lt L} Lt L} Lt

D7 G D7
ot otSCi2 Of7IE
D7 G

Oi7|E StLtE TR

FEuc
D7/F# G D7

FHo =

D7 G D7
oMl OFELCI2 OH7| &
C#dim G Cm G

H7|E SEFAMLR

D7 G G Am#~D7-GD7

ohe AtgaE o)
Of7|E ST TN

FaULt

0|8

oMl AFEAR™ of7| S

071 SHFML

2017.07.11 Last Upated / WindowBreak 1/1



